
Rotorbremse
für Mechanik VR-22 und Trainermodell XLV

VARIO Helicopter • Seewiese 7 • D-97782 Gräfendorf

Tel. 09357 • 9710-0   Fax 09357 • 397    www.VARIO-Helicopter.de

Ord.No. 722/9
Bauplanmappe

06/07



Parts whose Ord.No. is stated in full, e.g. 
(Ord.No. 47/11) are not included in the kit.

mit "Ord.No." versehene Teile sind NICHT im 
Bausatz enthalten!

!
!

(S) (S)

(S)

0,2 - 0,5m
m

90175 (S)
M4x25

1

35

30

90530
M3

8

90175 (S)
M4x25

(S) Ord.No. 10/24

Ord.No. 11/88
Ø 3,2mm

Ord.No. 11/88
Ø 3,2mm

907/2

90065
M3x10

(S)



2

2x 90530
M3

2x 860/25

(S) Ord.No. 10/24

90035
M2,5x10 (S)

3x 90541
2,5x5,8

90490
M2,5

3952/1

3896

107/14

4x 90527
M2,5

4x 90036
M2,5x12

90095
M3x20



70/121
M3

70/100
M2,5

107/17

107/26

57/2

10/82

90495
M3

90530
M3

57/2

3

107/31

90085
M3x16

90480
M3x10

90530
M3

90495
M3

Ord.No. 11/88
Ø 3,2mm



Ord.No. 11/88 
Ø 3,2mm 15

90495
M3

Ord.No. 11/88 
Ø 3,2mm

4

90530
M3

90075
M3x12

11

060/3



5

Ord.No. 722/39
in Ord.No. 1002/50

Ord.No. 722/39
in Ord.No. 1002/50

2x Ø 4,1mm

90190
M4x40

90560
4,3x9

Wird nur bei XLV Mechanik Ord.No.1002/50 benötigt !

Needed only for XLV Mechanic Ord.No. 1002/50 !

Nécessaire seulement pour la mécanique N° 1002/50 !

90535
M4

90190
M4x40

90560
4,3x9

2x Ø 4,1mm

!


	722-9 Deckblatt.pdf
	722-9 s01
	722-9 s02
	722-9 s03
	722-9 s04
	722-9 s05

